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ZOOLOGY
PAPER: ZOO 302

(MOLECULAR EVOLUTTON AND MTCROBTOLOGY)
Full Marks: 40 Time: 2 Hours
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UNIT: ZOO 302.1

MOLECULAR EVOLUTION

GROUP-A

1. Answer any TWO questions. 2x2:4
a) Distinguish between stabilizing and directional selections with respective

examples.

b) What is orthologous gene? Give an exanrple.

c) What is heterozygote advantage? Cite a concrete example.
d) How does a phylogenetic tree differ from a gene tree?

GROUP-B

2. Answer any TWO questions:

a) What do you mean by 'selection pressure' against a phenotype? The
following table shows the number of dark and light-coloured moths released

(P,) and recaptured (F1) in 3 different places of England. Calculate the
selection pressure operative against the two phenotypes and state which of
the phenotypes is favoured by natural selection.

Place

Dark
moth:

Released

(pr)

Dark
moth:

Recaptured
(F,)

Light
moth:

Released
gr)

Lisht
moth:

Recaptured
(F0

Birmingham 100 90 100 10

Dorset 100 82 100 64

Birmingham/Dorset
border

100 60 100 50

1+3

(P.r.o.)

I+1

1+l

(1)
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